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Q1) What is the output for the following code
class Vehicle

{

protected:

int idNumber;

string make;

double milesPerGallon;

public:

Vehicle(int, string, double);

void display();

};

Vehicle::Vehicle(int id, string make, double mpg)

{

idNumber = id;

this->make = make;

milesPerGallon = mpg;

}

void Vehicle::display()

{

cout << "ID #" << idNumber << " Make: " <<

make << " gets " << milesPerGallon <<

" miles per gallon" << endl;

}

class Dwelling

{

protected:

int numberOfBedrooms;

int squareFeet;

public:

Dwelling(int, int);

void display();

};

Dwelling::Dwelling(int bedrooms, int sqFeet)

{

numberOfBedrooms = bedrooms;

squareFeet = sqFeet;

}

void Dwelling::display()

{

cout << numberOfBedrooms << " bedrooms and " <<

squareFeet << " square feet" << endl;

}

class RV : public Vehicle, public Dwelling

{

public:

RV(int, string, double, int, int);

void display();

};

RV::RV(int id, string make, double mpg, int bedrooms,

int sqFt): Vehicle(id, make, mpg),

Dwelling(bedrooms, sqFt)

{

}

void RV::display()

{

cout << "A recreational vehicle: " << endl;

Vehicle::display();

Dwelling::display();

}

int main()

{

RV aRecreationalVehicle(2345, "Winnebago", 12, 2, 110);

aRecreationalVehicle.display();

return 0;

}

